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Worksheets AMC 10/ AMC 12 Practice Problems

ta07-01, ha07-01
One ticket to a show costs $20 at full price. Susan

buys 4 tickets using a coupon that gives her a 25%

discount. Pam buys 5 tickets using a coupon that

gives her a 30% discount. How many more dollars

does Pam pay than Susan?

(A) 2 (B) 5 (C) 10 (D) 15 (E) 20

tbO7-01, hbO7-01
Isabella's house has 3 bedrooms. Each bedroom is 12
feet long, 10 feet wide, and 8 feet high. Isabella must

paint the walls of all the bedrooms. Doorways and
windows, which will not be painted, occupy 60 square
feet in each bedroom. How many square feet of walls

must be painted?

(A) {; f `1 ( B) 7(i (C) 7Nr:, (D) SU i (E) N 7(i

tbo7-02

Define the operation * by a * b (a + b)b. What is

(3*5) — (5*3)?

(A) —16 (B) —s (C) 0 (D) 8 (E) 16

o70)



AMC 10 / AMC 12 Practice Problems

ta073, ha072

An aquarium has a rectangular base that measures

100 cm by 40 cm and has a height of 50 cm. It is

filled with water to a height of 40 cm. A brick with a

rectangular base that measures 40 cm by 20 cm and

a height of 10 cm is placed in the aquarium_ By how

many centimeters does the water rise?

(A) 0.5 (B) 1 (C) 1.5 (D) 2 (E) 2.5

hbO7-04
At Frank's Fruit Market, 3 bananas cost as much as 2

apples, and 6 apples cost as much as 4 oranges. How

many oranges cost as much as 18 bananas?

(A) 6 (B) 8 (C) 9 (D) 12 (E) 18

ta074 ha073

The larger of two consecutive odd integers is three

times the smaller. What is their sum?

(A) 4 (8) 8 (C) 12 (D) 16 (E) 20

sa0743
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AMC 10 I AMC 12 Practice Problems

taO7-07, ha07 5
Last year Mr. John Q. Public received an inheritance.

He paid 20% in federal taxes on the inheritance, and
paid 10% of what he had left in state taxes. He paid
a total of $10,500 for both taxes. How many dollars

was the inheritance?

(A) 30,000 (B) 32,500 (C) 35,000 (D) 37,50b (E) 40,000
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AMC I0 / AMC 12 Practice Problems

tbO7 -08

On the trip home from the meeting where this AMC10
was constructed, the Contest Chair noted that his
airport parking receipt had digits of the form bbcac,
where 0 < a < b < c < 9, and b was the average of a

and c. How many different five-digit numbers satisfy

all these properties?

(A) 12 (0) 16 (C) 18 (D) 20 (E) 24
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AMC (0 12 Practice Problems

tb07- 10

Two points B and C are in a plane. Let S be the

set of all points A in the plane for which /ABC` has

area 1. Which of the following describes S ?

(A) two parallel lines (B) a parabola (C) a circle ( D) a line segment (E) two points

tha,
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AMC 10  AMC 12 Practice Problems

ta07-12

Two tour guides are leading six tourists. The guides
decide to split up. Each tourist must choose one of
the guides, but with the stipulation that each guide
must take at least one tourist. How many different

groupings of guides and tourists are possible?

(A) 56 (B) 58 (C) 60 (D) 62 (E) 64
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AMC 10 I AMC 12 Practice Problems

ta07-14, ha07-10

A triangle with side lengths in the ratio 3:4:5 is
inscribed in a circle of radius 3. What is the area
of the triangle?

(A) 8.64 (B) 12 (C) 57 (D) 17.28 (E) 18
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AMC 10 / AMC 12 Practice Problems

tb07-15, hb07-11
The angles of quadrilateral AI3CD satisfy LA =
2/B = 3/C = 4LD. What is the degree measure

of LA, rounded to the nearest whole number?

(A) 125 (B) 144 (C) 153 (D) 173 (E) 180
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AMC 10 / AMC 12 Pracrice Problems

tb07-16 5 hb07-12
A teacher gave a test to a class in which 10% of the

students are juniors and 90% are seniors. The average

score on the test was 84. The juniors all received the

same score, and the average score of the seniors was

83. What score did each of the juniors receive on the

test?

(A) 85 (B) 88 (C) 93 (0) 94 (E)
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AMC 10/ AMC 12 Practice Problems

ha07-18

The polynomial f(x) = x4 +-ax'+bx2 +cx+cl has
real coefficients, and f (2i) = f(2 + i) = 0.. What is

a+b+c+d?

(A)0 ( B)1 (C) 4 (D) 9 (E) 16
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AMC 10 / AMC 12 Practice Problems

hW7-19
Rhombus ABCD, with side length 6, is rolled to form
a cylinder of volume 6 by taping AB to DC. What
is sin (ZABC)?

(A) (B) } 1r (D) (E)
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AMC 10 / AMC 12 Practice Problems

hb07-20
The parallelogram bounded by the lines y = ax + c,

y=ax+d, y=bx+c, and y=bx+d has area 18.

The parallelogram bounded by the lines y = ax + c,

y = ax — d, y = bx +c, and y = bx — d has area 72.

Given that a, b, c, and d are positive integers, what

is the smallest possible value of a + b + c + d?

(A) 13 (B) 14 (C) 15 (D) 16 (E) 17



AMC 10 / AMC 12 Practice Problems

tb07-21
Right AABC has AB = 3, BC = 4, and AC 5.
Square XYZW is inscribed in AABC with X and
Y on AC, W on AB, and Z on BC. What is the
side length of the square?

3 60 12 23
(A) (B) (C) (D) (E) 2

2 37 7 13
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AMC 10 / AMC 12 Practice Problems

ha07-23

Square ABCD has area 36, and AB is parallel to the

x-axis. Vertices A, B, and C are on the graphs of y

logy x, y -= 2 log,, x, and y = 3log,, x, respectively.
What is a ?

( A) e 3 ( B) 0- (C) r 6 ( D ) (E) 6
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AMC 10 I AMC 12 Practice Problems

ha07-24
For each integer n > 1, let F (n) be the number of
solutions of the equation sin x = sin nx on the interval
{O, What is 007

n2 
F (n ) ?

(A) 2,014,524 (B) 2,015,028 (C) 2,015,033 (D) 2,016,532
(E) 2,017,033
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AMC 10 / AMC 12 Practice Probie

tbO7-24
Let n denote the smallest positive integer that
is divisible by both 4 and 9, and whose base-10
representation consists of only 4's and 9's, with at
least one of each. What are the last four digits of n ?

(4) 4444 (B) 4494 (C) 4944 (0) 9444 (E) 9944


